Multiplication de Trois Binomes (F)

Simplifiez chaque expression.

1 (=5t 4+ 2)(—t* — 3t)(—9t + 7)

0 (=TF = T)(=8f = 9f3) (=T + 7fY

3. (—5st —85%) (75> — 657)(85” + 7s*)

L (9y® = 3y)(6y" — y°)(—6y — 7)

5. (—6v% — 9v)(5v* — ) (—4v? — 3v)

6. (—37’5 — 7’4)(47“3 + 57’2)(—97’4 - 27’3)

7. (=2n% — 2n)(8n° + 6n*)(—4n* — 6n?)

(A B) (6 —4f)(Tf - 3)

08

9. (m + 3)(4m* + 3m)(—2m* — 8m?)

10. (=72° + 62%) (22" + 32°) (=32 — 4)
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Multiplication de Trois Binomes (F) Réponses

Simplifiez chaque expression.

1. (=5t + 2)(—t* — 3t) (=9t + 7)
= —45t% — 8213 + 14512 — 42t

0 (=TF — TV (=8f = 9f3) (=Tf5 + TfY)
= —392f'" — 44117 + 392f° + 441"

3. (=55t — 85%)(7s® — 657)(85” + Ts")
= —280s'% — 4535 + 2025'% + 3365°

1 (9% = 3y) (6y" — ) (—6y — 7)
— —324y" — 216y° + 171y° — 21"

()

- (—60* — 90)(50% — 9v)(—4v* — 3v)
— 1200° + 54v° — 3510* — 24303

6. (=3r° — ") (4r® 4 5r) (=9r* — 2r%)
= 10872 + 19571 + 83710 + 10r?

7. (—2n* — 2n)(8n° + 6n*)(—4n* — 6n°)
= 64n'! + 2080 + 216n° + 7208

S (—=Af 4+ 3) (6% —4f2)(Tf — 3)
— — 1687 + 310f* — 1863 + 36 f2

0. (m+ 3)(4m* + 3m)(—2m* — 8m?)
= —8m’ — 62m° — 138m° — 72m*

10. (=72° + 62%) (22" + 32°)(—32 — 4)
— 42210 + 8377 — 182° — 7227
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